C:# Cuatro Sumandos (2 digitos) Nombre:

Resuelve cada problema.

1) 43+55+21+92=

2) 50+53+84+53=

3 92+51+64+10=

4) 73+44+69+65=

5 20+57+55+56=

6) 97+90+77+71=

7) 81+62+13+98=

8 91+36+10+22=

9 23+53+39+72=

10) 74+41+34+13=

11) 99+94+92+89=

12) 52 +89+96+34=

13) 76+27+73+68=

14) 30+80+28+60=

Respuestas

10.
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12.

13.

14.
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ﬂh Cuatro Sumandos (2 digitos) Nombre: Clave De Respuestas

Resuelve cada problema. Respuestas
1) =
43+55+21+92 211 . 211
2) 50+53+84+53= 240 2 240
3 217
3 92+51+64+10= 217
4. 251
4 73+44+69+65=_ 251 5 188
6. 335
5 20+57+55+56= 188
7 254
6) 97+90+77+71=_ 335 8 159
0. 187
7) 81+62+13+98= 254
10. 162
8 =
) 91+36+10+ 22 159 . 374
9 23+53+39+72= 187 12 271
13. 244
10) 74+41+34+13= 162
T 14, 198
11) 99+94+92+89= 374
12) 52+89+96+34= 271
13) 76+27+73+68= 244
14) 30+80+28+60= 198
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Cuatro Sumandos (2 digitos)

Nombre;

Resuelve cada problema.

Respuestas

{

187 335 254
159 217 240

211
188

162
251 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

43+55+21+92=

50+ 53+84+53=

92+51+64+10=

73+44+69+65=

20+57+55+56=

97+90+77+71=

81+62+13+98=

91+36+10+22=

23+53+39+72=

74+41+34+13=

10.
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